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3 100kN/mM%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -| 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/ 000 ~ 492 61.29] #hLis [0.00 ~ 0.00] 1.70 8.93 ZHLS 1.00f 500 ~ 5.20 61.29] #hklst | 500 ~ 520 1.70 8.93
4 100kN/m%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -] 100kN/mM%E#Z% = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/ 000 ~ 565 7057 #hbis [000 ~ 565| 1.79 9.40 ZHLS 1.00] 500 ~ 6.30 7057] #hilst | 500 ~ 6.30] 1.79 9.40
5 100kN/mM%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -] 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/0.00 ~ 6.71 84.76] ZhLlst 1000 ~ 0.00| 1.69 8.89 TS 1.00f 500 ~ 8.20 84.76] ThLls | 500 ~ 820| 1.69 8.89
6 100kN/m#%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS = ~ = = =
ZnLs 1.00]0.00 ~ 7.71 98.86| Zn L4 |0.00 ~ 771 1.77 9.28 st 1.00f 500 ~ 10.33 98.86] ZnList | 500 ~ 10.33| 1.77 9.28
7 100kN/m%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS = ~ = = =
Zh st -l -~ = -| £h Lot = ot = = = Zh LS = -~ = -| ZhiLis = ~ = = =
8 100kN/m%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS = ~ = = =
Zh s -l -~ = -| £h Lot = ot = = = LS = -~ = -| ZhLis = ~ = = =
9 100kN/m#%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS = ~ = = =
Zh st -l -~ = -| £h Lot = ot = = = LS = -~ = -| ZhLis = ~ = = =
100kN/m%#BZ % ~ ImEHEZD ~ 100kN/m#%#BZ % ~ ImEEZD ~
ZFh s ~ FhnLst ~ S ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZFh s ~ FhnLst ~ Zh S ~ ZFh s ~
100kN/m%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
ZFh s ~ Fhn st ~ S ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZFh s ~ FhnLst ~ S ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZFh s ~ Fhn st ~ Zh s ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8 % % ~ IMEEZD ~
ZFh s ~ Zh s ~ Zh LS ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8 % % ~ IMEEZD ~
ZFh s ~ Zh s ~ Zh LS ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8 % % ~ ImEEZD ~
ZNLUS ~ ZThLS ~ ZHLS ~ T IO0)) ~
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